Essay
Morning Walk

There are many ways to keep ourselves healthy but morning walk is the simplest among them.
the earliest hours in the morning are the best time to spend with greenery around us. The
oxygen that we get in the morning also gives us great amount of energy .

| always go for a walk with my father. The morning scene looks beautiful .The dew drops ,the
chirping of birds, the cool breeze etc refresh my mind and body. There is always a complete
silence in the morning that gives peace to my mind . We meet many people enjoying the walk
and doing other exercises in the parks .

Morning walk helps in reducing stress, increasing our blood circulation, allow to get good sleep
at night, control our diabeties and so on .People go to doctors for the medicines for better
health but the morning walk is the best and cheapest medicine that always keeps a person
healthy and active throughout the life.
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Essay
My Aim in Life

' We attain glory through aim and planning "

Ambition gives direction to our life .Different people have different aims.

| too have an aim. | have set my mind on being a teacher. | have a number of reasons for
desiring to be so. First, | love teaching .| always help my younger brother and sister in their
studies. | also love being with people, talking to them and exchange ideas .It always updates
my knowledge

A good teacher not only teaches his /her subject but sets values and Standards. A teacher
is the most selfless who works for others without bothering about monetary gain.

The aim that | have in my life is very inspiring for me . | shall do a lot of hard work to fulfill my
dream. | shall teach my students with love and care. As my teacher has inspired me to become
a teacher with her inspirational teaching way. | also want to be like her and | would gain a good
name and reputation in society.



Story
Hard Work leads to success

Once there was a farmer. He was very hard working . He had three sons. They were very lazy
and they never helped their father in his work. The farmer was very worried about them.

One day the farmer fell ill. He knew his end was near .So, he called his sons and told them that
he had a hidden treasure in the fields and after his death they dug it out . After some days the
farmer died . After performing the last ritual, the sons started to dig the field.

They dug every inch of the field but did not get any Treasure. As they dug the ground, they got
a very rich harvest .They got a lot of money by selling their crops. Now they understood about
which treasure their father was talking.

Moral:- Hard work leads to success.



Complaint to S .H .0. on Theft.

New Town
Street No. 5

Moga

November 25,2020

The S. H. O.
Police Station

Moga

Subject :- Regarding theft that occurred last night.

Respected Sir,

| would like to draw your kind attention towards the theft that occurred yesterday night while |
and my father were coming back home from our shop.

Suddenly one man snatched the chain of my father . | ran after him but he fled away. I noticed
that his one hand was artificial and he was tall dark person.

Please try to find out the thief as soon as possible. Hoping for a necessary action in this matter.

yours truly
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Paragraph Writing
(a) A place you visited

In Summer vacation | went with my family to visit the Taj Mahal. It is located in Agra . We
started our journey in the morning and reached there at evening. It is a beautiful building. It is
located on the bank of river Yamuna. My father told me that the Taj Mahal had been made by
Shah Jahan in the memory of his beloved wife Mumtaz Mahal. It has made with white marbles
and looked so beautiful in the moonlight. There is a garden near the Taj Mahal .we rested there
and enjoyed the beauty of the Taj. We took some photographs also .It was very enjoyable for me.

(b) An Accident

Yesterday, | was going to my friend's home for study. | was crossing the main road. Suddenly |
heard some horrible cries at one side. A dreadful accident took place there. A car hit with a truck
and it over turned .All the people who were in car badly injured. The car driver died on the spot.
The Accident happened due to the carelessness of truck driver .Perhaps he was drunk and lost
control over his vehicle . People called the police and they arrested the truck driver . Injured
people were sent to the hospital .It was a very bad experience of my life and | could not even
sleep on that day.

Letter to complaint to Municipal Chairman about stray Animals.

New Town, Street no. 5
Moga

Date- 28/11/2020

To
The Municipal Chairman
The Municipal Corporation

Moga

Subject :- Complaint regarding stray animals



Respectd Sir,

Respectfully, | want to say that | am living at the above address and we can see a number of
cows and dogs wandering here. It makes a lot of problems for the people of this area.

Children are not getting proper place to play .Vehicles are also meeting with accidents. Please
take necessary action in this matter to avoid further problems .| shall be grateful if you take
immediate step .

Yours truly



present
Smell
Lose
Mow
Rise
Grind
Burst
Let
Hide
Fly

Burn

Be
Become
Cleave.
Forgive
Fight
Lay.
Quit
Weep
Tell.

Rid.

Form of verbs
past
smelt
lost
mowed

rose
ground
burst
let
hid
flew
burnt
was
Became
cleaved
forgave
fought
laid.
quit
wept
told

rid.

past participle
smelt
lost
mowed
risen
ground
burst
let
hidden
flown
burnt
been
Become
cleaved
forgiven
fought
laid
quit
wept
told

rid









POEM
The Mountain and the Squirrel
B. Answer this question:
Ans : The Squirrel can crack a nut but the mountain cannot.
C.Think and answer:
1.Ans:The Squirrel is cleverer because it knows that it is not inferior just because of its size.

2.Ans:The message of the poem is that no one is superior or inferior in the world. Everyone is
equal as all have different talent in themselves.

Inside Word Meaning
1.quarrel. fight

2.doubtless. without any doubt

3.sorts. kinds

4.disgrace. shame

5.deny. refuse

6.differ. different

7.well. good

8.wisely. in a wise manner
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Chapterno 9
The Secret Garden

Exercises
G. 1. A scorpion stung the gardener.
2.Vibhu carried the milk bottles.
3. Subha watered the plants.
4. Kulbir opened all the windows.
5. Hemant took out the garbage.
6. Mr Saini taught us today.
H.
1. Grandpa's glasses were found by Pallavi.
2. The children were invited by Homi.
3. These greeting cards were made by Shivani.
4. The story was written by jayanthi in two days.
5. The car keys were found by Anurag.

6. A holiday was declared by the principal.
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Chapterno 9
The Secret Garden

A. Read the sentences and answer the questions:
1 (a) Mary spoke these words to Robin.

(b) Mary had found an old key in the ground the previous day.

(c) The Robin flew to the top of the wall and started singing.

(d)When the wind moved the ivy hanging over the wall, Mary saw a doornob behind the leaves.
2.(a) Mary was in The Secret Garden.

(b) The Robin was watching Mary.

(c) Mary had seen the rose bushes that covered the entire garden.

(d)As the garden had been locked for ten years .So Mary was the first person to speak in there.
B. Answer these questions:
1. The Robin allowed Mary to come very close and talk to him.

2.Mary found a rusty key in a dug hole in the ground after the Robin hopped over it in search of
worms.

3. Mary was skipping around the garden and the orchard.

4.As the Robin sang from the top of the wall, a strong wind blew .The wind moved the ivy
hanging over the wall ,then Mary saw a doorknob behind the leaves.

5.Mary felt excited and she was filled with wonder and delight when she entered The Secret
Garden.

6. Mary knew the bushes were rosebushes because she had seen many roses in India.



Chapterno 9
The Secret Garden
C. Think and answer.

1.Mary and the robin shared a relationship of friendship and trust . Mary enjoyed his company
and he helped her to find the secret garden.

2.The secret garden was quite and still . So Mary felt that she was hundreds of miles away from
anyone.

Word Meaning

1. belonging. possessing
2.hopped. jumped

3.buried. placed underground
4 frightened. afraid

5.swaying. moving here and there
6.excitement. feeling of happiness
7.mysterious. very interesting

8. flutter. move

9.whispered. spoke slowly
10.brilliant. talented
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the mother let out a Jlot
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" Comprehension

ose from the boys and rushed

h“}kL' I()
rowards 1ts mother.

id and clear

With a joyous squeal, the baby

Complete the sentences in your own words.
in the right-hand comer of the dark shed, the boys saw A_M,QMM

Jonti and Dhanai cut the ropes roughly because they wanted to W ._p_ulﬂflﬂ't

when the boys left the shed and reached the gate, they saw-uut ' %

Nalia instructed his men to w-%&m d_;%ﬂmid.m.uﬁm—.

When Dhanai put two fingers to his mouth and whistled, Xiam the

When the baby elephant heard its mother’s loud trumpet, _gk..$ damstian,

Answer these questions.

What did the boys see when Jonti switched on the torch?

What made the guard wake up and jump to his feet?

How did the baby elephant break free and go out of the enclosure?

What happened when Nalia and his men tried to cut off the baby’'s escape routes?

Why were the boys worried when Nalia wanted to get the koonki?

Think and answer.
Q:nmcm. THINKlNG)

After reading the story, we can s
- ay that the
about the three boys? boys were very brave. What else can you say

How do you think the baby elephant felt when it heard its mother's trumpet?
mpe

P
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¥ play with words O o) .

come words go well together while some don't For example, we can say

e a rope but not tie a door (you shut or lock a door)
o but not wipe shirts (you wash or iron shirs) [
p Tick (/) the correct options to show which words go together.
| pay a. ascolding b attention v/ c At oo ‘
catct a. acold T b. money ___ ¢ joy -
keep a aniliness b VR e c asecret V7 !
watcr a. a show T i b a book —— G A oer
make a. aproblem ___ b a promise V" _ c @bath

¢ Match the idioms with their meanings.

ead on a mermy chase a fell face downwards 2.

fell flat on his face b moved very quickly without looking 14
hissed urgently ¢ lead someone on a useless pursuit |
rushed blindly 4. got hold of after being in pursuit S
caught up with e whispered quickly and forcefully 2

Punctuation

Read this sentence. PUNCTUATION
“Set the baby free,” Jont said in a nervous whisper. “He's our only chance.”

When writing dialogues, we use quotation marks. These are usually in the form of double

* If the sentence inside the quotation mark is a new sentence, begin with a capital letter.
¢ If it is a continued sentence, begin with a small letter, except when it is a proper noun.

F ite the sentences in your notebook, using capital letters where necessary.
l Eet:wusl be quiet.” said Jonti, “or Nalia's men will hear us.”

Nagesh said, “there is no test today,” and added, “but there are two tomorrow.”
3 “how do you know,” asked Mani, “how food to give the fish?"

s not raining any more,” Sana said. “shall we go out now?”

: _____{:rn around now.” Samar whispered, “but | think we are being followed ™
® 'mother is calling us both,” Nupur said. “she looks quite angry.”

[

=3

w



4. Rushil said, “I want to go home early today.”

6. ‘Please don't walk on the grass,” the guard said to the visitors.

ook exactly the same

7. “which one is a copy?” Kaushik said. "both the paintings

—
—

8 “after Mr Pal's farewell speech,” Bina said, "everybody had tears in their @yes

[ GRHAMMAN IN CONTE 21 |

J

-,

Read these sentences.
“The elephant calf has escaped!” shouted the guard.

Dhanai said, “I know a trick that might work.

The sentences within quotation marks are the actual words spoken by the guard and Dhana
These sentences are examples of direct speech.

Now read these sentences.
The guard shouted that the elephant calf had escaped.

Dhanai said that he knew a trick that might work.

In these sentences, someone else is reporting what the guard shouted or what Dhanal said
Such sentences are in reported or indirect speech because they are not the speakers
actual words.

¢ In direct speech, the actual words of the speaker are put within quotation marks
¢ In indirect speech, the word that is often used before the reported statement,

¢ The verbs and the pronouns used in direct speech change in indirect speech,

G. Fill in the blanks to complete the sentences in indirect speech.

1. “We will have to rope the calf,” Nalia said.
Nalia said __thak they would have to rope the calf.

2. Dhanai said, “He is coming in to investigate.”

Dhanai said that he 7G4 W) coming in to investigate.

3. “We are going to watch a play today,” said Shruti.

Shruti said that Jhﬂ.g
that day.

were going to watch a play

Rushil said that _h— wanted to go home early

that day.
5. “Open your mouth,” said the doctor to Saif.

The doctor asked Saif to open __ D. '1,5 mouth.

The guard requested the visitors ‘_'Xl.ﬂ__ to walk on
the grass.




Chapterno 10
The Rescue
B.Answer these question.

1.When Jonti switched on his torch the boys saw that at the left of the cowshed there were two
bulls and in the right corner, the baby elephant was tied to a pole.

2.When one of the bulls ballowed loudly the elephant calf got nervous and it squealed the
sounds awoke the guard and he jumped to his feet.

3.As the guard was going to enter in the cowshed Babul hit the elephant calf smartly on its back
and it ran out of the shed.

4.When Naliya and his men try to attack the elephant calf from all directions, it slipped through
the gap and ran into Nalia's hut.

5.Koonki was a trained elephant .The boys knew if Koonki would come then the elephant calf
would not get a chance to escape .So, they were worried.

C.Think and answer

1.The three boys were not only brave but kind ,very clever and gentle .They were good friends
and believed that the animals should be treated well.

2.The baby elephant felt itself safe and it would be very happy when it heard its mother's
trumpet.

Part H

Rewrite the sentences into indirect speech.

1. Jonti said that they had to be very quiet.

2. Kirti said that they were ready to go.

3. Sanath said that he was sorry for the delay.

4. Mr Dogra exclaimed that it was so cold that day.

5. Raheel said that he had found his pen.

6. My mother ordered not to open the window.

Edit with WPS Office









THE MOON
POET : ELIZA KEARY

B. Answer the questions:
1. In the first stanza, the poet describes the moon as a beautiful queen.

2. The line 'And she was a born a queen' supports this statement.

3. The stars are the moon's attendants.

C.Think and answer:

At night when our curtains are not drawn shut properly , we can see the moon through

gap and it seems as it says us 'good night.'

Inside Word Meaning

1.0ften. many times
2.mild. soft
3.gentle. calm

4 humble. modest
5.dim. low
6.beaming bright

7.glance look




Il TERM

CLASS-5TH

SUBJECT-PUNJABI-2
ANSWER KEY

B UrArs Urs Ha™-4
(Reader Book)

a3 i gard
1. At €3I nidl (v) T fors Sare:-
1.598 v
2. 5o fag gor v
3.90f v
4. W3H-feHEH v
5. HIS3I da6 T8 v
2.yH5 /| €39
1. 7 &S T AII & I, €9 fricat & it gt a9
e IS

2. 598 &g 3gt € A I v Fies § 9 fder I
3. it & dlg ot Ifa At I Qo wuE At B &t AaR)

4. fHI®3 I3 T3 Sfan &g wr3H-ferer der Jer I

3. €' d:-
o ST - 3% IIS TH Ho B IT IS|
o IF - 53% 7 T farrdt &t 397 I
o T - HIG3 ad® T) Tfed 59 J€ I& |




o ITH - Hies T I = AIa! fiTa

o W3H fEHEH - HI®3 I35 &8 A3 feg
WIH-feReH geTr J)

o WE U YBE - I8 HIS @8 g9 wiye Ud ud
&Jf AI|

1. 895 & B9 sud gfde)




1. At €339 ndl (v )T forrs Bare:
1.forg
2. g5t <&t
3. riamrargt
4. 13 fusrer
2.yHs €39
1. I IJ€ T g3 Jt forg 3 fesAe uAe I+ A €9
feeTs ATg-H3t 3 It T 5g3 Af3arg ade /)

2 YWIBHBI S TH T AT GRS M a3 yerye 9
Cicip

3.4J T H'3S Wel aHg T o fJAm Wiy wa-fus §
fder /i, g0 fJAT Y339 '3 ygu Jae A, I fdAr e
gger At w3 I fJA WU ufgeag € we-ie 3 ydg
agc Hh

4. (F)€T 3F<Tt T Hee I A
(H) 8T A3 fHIs3 99 & nis Uer age /|
3. AT O o feg °93:
o TG - I g9z S g7 fowg Al
o feETs - A Uz-18y 3 feees g grdier J)
e A'Q-H3 - ATQ-H3 3 T 38 IJ< Ia|
o USHE-UHE - I dgc o< RaAS-UAT I AT




e HA'2d - H HA'gd I')
JI
e 3T - 3T YA T 3T I?
4. I gt 99:
1. 7S}
2. gt
3. wrigmirarat
4. foHa3T
5. fenrd
6. {3
5. 31 (v )AT IB3 (V) © 60 BIre:
1.%
2.%
3./
4./
5.x%
6./
fenrass:
1.yfEar et fdar
o 3Tfemir 3
° 33T g
o HAT HA
o fii3g IS
o I’ gret
o ITHI HIT



3. a3 | Ud use)

4. 7S SEMff SIrEmif gET8)
5. gemit & gfearet fsdf
6. I Ig3 Hed IS|

us 15
ysrAfea € f52a
1. AJI €33 nidt (v )T forrs SIrG:-
1. /STl 8
2. A9dI &
3.AHHS
4. Wéw@?é
5. foas yen o
2.yHs €39
1079 A9a'd & UsTAfed © foge st d96 T AsWudl
eH gfeamir I

2. ygAfca B Bae st ko gat feo fim a3t g A
aasfaﬂwawua?@éam

3.UBHic © f8ge afaat &g s It Aledw o AR
6 3t HiedH ¢ gt ad fiée Ia

4. yorHfcd © 832 f6d15E &% ug Ha A I51
58doed  UBTHICH € fBafanf S g Iem Af Uz 2
fearfant &t 293 g9 TS 9

3. gET ©f o feg °33:-
¢ HAAS - IF' &' T3 FAA'S Jfemr|




o EWEI B - gfer uret fanrdht § emiEs fder I
o TAIH - AI'Y fHIS T Tdlaad I
o TITIS - TITIS $ H'ES I
e Uil - AT & USTHICH © farfen 3 Ursial st
JI
o AfIWT - AfTWIT 55 A9 o B8 J A I&|
4.9 gt 93:-
1. AfgdisT
2. AHH
3. HieaH
4. g4t
5.Uq
6. S
ferags:-
1. =gt Tt {91 STdl:-
3.}t S gl § H'e ad &3
4. TGO 931 Us3" It |
5. flpit €=t €3 It I
6. 5%t 3 grg et
7. 09 3 dUI U3
2. §U #=<:-

I@%ﬁg&gg



Ag & sedt

1. AJt €33 nid (v )T forrs BIrG:-

1.9HTS

2.937

3. 795 <9

4. TGS

5.f8c a5
2. yH& €33:-
1.3g AHAT <8 TI He fudfenit § g9 A fonier dit w3 @1
& AgB 3¢ H

2. 7R A © firg w3 flis § uBA F fimig sger A

3. AHAJ Bg-Hd &9 wuE w3 =¥l Il 3T Adlas
goger Hh

4. 7898 fc 58 caI'gE dda HHRAI AFd 3 f5ar1 fimim
3. T feg <93:-
o e - H I HIR
I - fog Ias foult 3
forf3as - A3 fouf3Ts gg I a1 I&)
fogd33T - IH HilmfF T fead3r Y39 3
AEas - § o Arelas Hatfanrm
SHI3 - Jof fSa1 2 @I 9nas I famm
o HEfUS 25 - A3 fU3™ Hl & &eF HTHIS & Hlfenr
4. YE g 93:-
1.9g
2. AHAd
3.908



4.2gadg
5. faad3r
6. 9793

7. 799 fes

5. 3d(v ) IS3 (%)

S S
 NENE N

1%'338?751'

Urrst fenrags

(Grammar Book)



U516

 fegdt =R

yre €39
€391.f792 ree fan THI mee I fe3d wea3 B5e
wmtﬁzaaéaﬁ@waﬁéﬁrﬂaeﬁafwéu
fe:-93 - fos, 9T - Uar wirfa

kil assage et AR
= mqm@@?ﬁﬁ@‘
1. fegdt weet 3ot I J7

» o5 gEe © fegut wue fou—

1. =3° R IRY 8 em ea

- T 10. wdteer %ﬂé‘

3. wes Thes 1. 39 3R

4 = %B{j 12. IR =t

5. Yer T3WT 13. Yoy ﬁ’lﬂl‘z'

6. wodh Tt 14, fugs —Tee
7 e —psT——— 15. waet —In
8. HeJdl g,gg\ 16. »HE! _’N@(—’/

@




v W o e H

"-Jm.'-"":""i‘-”."-'!—‘-':'

HESHE My

B
e & = s
a. T g
w0, EE) o 3

e d3grwy —
s e Rl

% 7. e
5 U, TS

aeIaBR A W ———— s

y, T A up, IHTEL

35t f93 muEt ¥ S feadt wee mone Wt (V) w3 Ies maE (x) = faus serE—

et - 2T ol L6 USY - I
forreera - HA1E % L7 - e
Wiyt — FT ¥ L 8. B - U
39U — fo5q o . 9. wigdl - meug
ot - Us3 e : 10. EEUREY
Yot f¥ maat @ Quat @ feadt waet w6 fieTs 8-
WIS - = BfEE 3

B o Y

¥z e s TH3T |

EEEL - AU §

TTn w U568 2

T - o HEd |

39T « f5ared




LGELY

HHSEd @ -

- e @sD
2o feufsas

@@ e wfsmTaTa
femira Hdle

Wﬁ?ﬁﬁﬁ?aﬁ%‘wea%:-

B
W

o

U3d

"3

ST m
-im% o3
o e
S P
FSt i
R Has
fast P
PR SLIZDER s
yan=ta uATEt
il - TERM
g difge finy i, ATt Ho-a 8 nifmmuar
Ag® £5¢ €' Ao ifede Bz BE1 {96 =41
OB @ At wet sare foa @ yTs § UST



HI=I 26 T 40 I



ST AT

Scanned with CarmScanner



. .
EER ARt
(The pleasure of bondage]

=

-— i
- St e,

:Q}Q Summary

The given poem shows the importance of independence in life. A parrot enclosed in 3
cage is not happy after getting everything. A bird myna (a starling bird) living in forest
tells the parrot that he gets everything easily without working. She (myna) has to
wander whole day and night for searching food and water. Then the parrot tells myna
that if she (myna) likes his status then come and live in the cage. But when the myna
beginstoliveincage she becomes sad. Maina begins to feel restlessfor herfreedom.
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Exerc1se Lo 3-:

.

2,

3.

Murt Wakth Vided ;t;\w,éoﬂwm/&mu

Compare the following decimal numbers and fill in the boxes using a >" or '<' sign.
(@) 34/ |65 b) 1102 1130 0 2632|2723
d 12> .02 (e) |o_13Z.10.17 (f) 3676[%3667
(g) 0.950.1 (h) 2.87L@2.88 (i) 0,23L<f1.32

(a) 343 344 .34, 434 4.43,3.44,3.43

(b) 2.282,2.822,2. 228.8.228, 8. 282 8_25?2 5_2 229M}M¢&?

(c) 001 .1, 1.001, 1101, 0011, 0.101 | ,F_Lo_l,_LLoL,ﬁ e 0ll, o
555 55, 55.555, 5.555, 5.55, 5.5, 55.5 L55.56, 55,554_515;5—5#55

Arrange the follewing decimal numbers in ascending order.

(@) 28139, 461.38, 3.961, 2.638, 2.579 2579 26385 3-9415 291395 Y%
(b) 7.777,77.77, 777 FTLT VT > WotCh  m yTde&

(C) 69.96, 96.69, 9696 9.969, 9.699 l 9.¢96, %Q,?_,_‘i_ﬂ,j 3 £9-9C; 964§
(

d) 1901, 10.01, 11.1, 10.1, 1.101. 1.001 1e Q,ﬂI : 1-01, 1. 191, [2-0] * Jo-ls
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ST.JOSEPH CONVENT School, MOGA
Class-5th
Subject- G.sci
Chapter- 2 ( Human body- The skeletal system)

5:- Define the following:-

a) Bone:- Hard structures which forms the skeleton
is called bone.

b) Ligament- It is a strong tissue which joins the
bone at the joint.

c) Tendon- it is connective tissue that connect
muscles to the bones.

d) Muscle- It is fleshy bundle of elastic material on
the bones which help in movement.

e) Spine:- A long column of hollow bones is called
spine.

f) Joint- The meeting point of two bones is called
joint.

g) Skeleton- The framework of the bones which

gives shape and support to body is called skeleton.

the strong elastic tissue which is




6. Answer the following questions:-

Q1 :- What is a bone? Describe its structure and
types?

Ans- Bone:- Hard structures which forms the
skeleton is called bone.

Structure:- A bone has a hard outer covering and an

inner layer.
Inner layer in the long bones of the body contain
jelly like material known as bone marrow.
Types:- Long bones

Short bones

Flat bones

Irregular bones
Q2:- What is difference between bone and cartilage?
Ans:- Following is the difference between bone and

cartilage:-

Bone Cartilage

1. It is hard structure forms|It is elastic tissue which

skeleton. is very flexible.

Bone form framework of It is present in nose and
Whole body.

ear.




Q3:- What are the functions of the skeletal system?
Ans:- * It gives shape and support to our body.
* |t protects the soft and delicate organ of the

body.

* It helps in movement of body.
Q4:- What is spine? Explain its functions?
Ans:- _Spine:- A long column of hollow bones is
called spine.

Functions:- * It gives support to the body.

* |t protects the spinal cord.
Q5:-. What are floating ribs?
Ans:- The last two pairs of ribs are only attached to
the spine at back but not at front, is called floating
ribs.
Q6:- What is a joint? How are the bones held
together at a joint?
Ans:-_Joint- The meeting points of two bones is
called joint.

Bones are held together at a joint.

Bones are held together at a joint with strong tissue




Q7:- Name the different types of joints with an
example each?
Ans:- There are two types of joints.

* Movable joint- eg:- Joints between bones of skull.

* Immovable joint- eg- joints in elbow,shoulder.

Q8:- How do muscles help the bones to move?
Ans:-Muscles help the bones to move by
contraction and relaxation.

Q9:- Describe and draw the three types of muscles
present in our body?

Ans:- Skeletal muscles:- These muscles have bands
all over them. They are under over control. They are
also known as stripped muscles.

Smooth muscles:- They are known as involuntary
muscles because they are not under our control.
They are without bands.

Cardiac muscles:- These muscles have stripes on

the them like voluntary muscles but work without

oluntary muscles.




Q10:- How can you take care of bones and
muscles of your body?
Ans:- *By doing exercise regularly.

*By eating healthy food.

* By maintaining good posture.
7. Think and answer
Q1) What would happens if the heart was made up
of voluntary muscles?
Ans:- If the heart was made up of voluntary muscles,
it would stop working when we would sleep or
forget moving it.
Q2)If your body has deficiency of calcium and
phosphorus, which part of your body will be
affected the most?
Ans:- Bones and teeth will be affected the most.
Q3) We can move our arms in circular motion but
not our knees why?
Ans:- The joint at the shoulder is balls and socket

which allows the arm to move in circular motion but

joint at knee is hinge joint which allows movement




)

4, Human body Is like a wonderful rﬁaﬁhline.

skeleton. Bones are of different shapes
T and sizes.
|3, Abone has a hard outer cover called
compact bone and an Inner layer called
spongy bone,
4. Skeletonis the framework of our body.
5, The skele'ton provides protection, gives
the body a proper shape and helps in its
movement.

|

s ). Bone Is a hard substance that forms the .

10.

11,

- spine, rib cage and limbs,

I m eetl )

The human skeleton consists of the skull,
A Joint Is a junction where two or more bones

Joints help the bones to move. Joints may be
movable or immovable.

Muscles attached to the bones make the bones
move by contraction and relaxation,
Muscles are of three types - skeletal, smooth
and cardiac muscles.

We should take care of muscles and bones of
our body.

Exercises

1. Tick () the correct option:
(a) Bones are composed of:

(i) calcium.

(ii) phosphate

@%oth of these

(iv) none of these

(b) The part of human skeleton that protects our brain is:

(i) rib cage - (ii) spine \@%ku]l (iv) limbs
(c) muscles have no bands or stripes:
(i) Skeletal (ii) Voluntary (iii) Cardiac (iv)8mooth
(d) The joint which is present in hips and shoulders:
(i)/Pall and socket joint (i) pivot joint (iii) hinge joint (iv) gliding joint

(e) The muscles found only in heart:
(i) striped muscles -
2. Fill in the blanks:
@ Blood Ce1LS
®) _ThE BRAIN/
© _lower Tauw)

(ii) smooth muscles (iii) skeletal muscles \(‘i)a/cardiac muscles

are produced in the bone marrow.
is the organ of the body that is protected by the skull.

is the only part of the skull that can move.

(d) Each small bone of the spine is called a VERTEBRA

| 2.

(e) There are

(f) The

Li(‘;}'rHMEr\!TS

pairs of ribs in our body.

are the strong tissues which hold the bones together.
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(8) The knee has H INGE type of joint.
(h) Bones are connected to the muscles with _lEN_D_QN;g_——-
(i) The three types of muscles are _S_[_f_)_o_o_ﬂj_, 8 KELETAL and ——DI&_C_CAR P

() The heart muscles are also called CH'R NTAC muscles.

State true (T) or false (F):

() The backbone consists of one long bone. F

(b) Skull protects the brain. T

(c) The spine is a long column of hollow bones called vertebrae. T
F
T
F

(d) Alljoints in the body do not allow movement.

(e) The hinge joint allows movement in one direction only.

(f) Physical activity is not good for health.

Name the following:

(@) Food items rich in vitamin D. fmﬂ.&@%s t ) Eﬂ a

(b) A strong elastic tissue which makes the nose flexible. C—ﬂR.TQ A& I‘:

(c) The type of joint found in the shoulder. Ean pniD Sock € T
(d) Part of the body where immovable joints are found. m E SKutr

(e) The muscles which we can move at our will. SKELE TAL

Define the following:

(@) Bone (b) Ligament (c) Tendon ~ (d) Muscle

(e) Spine (f) Joint (g) Skeleton (h) Cartilage

Answer the following questions: |

(a) Whatis abone? Describe its structure and types..

(b) What is the difference between bone and cartilage?

(c) What are the functions of the skeletal system?

(d) What is spine? Explain its functions.

(e) What are floating ribs? ¢ |
(f) What is a joint? How are the bones held together at a joint?

(g) Name the different types of joints with an example each.

(h) How do muscles help the bones to move?

(i) Describe and draw the three types of muscles present in our bbdy. .
() How can you take care of bones and muscles of your b_oc_iy_?_
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Class-5th
Subject-G.sc

Answerkey of Chapter-7
4. Answer the following questions:
(a) What are biotic and abiotic components of an
environment? Give examples.

Ans:- Biotic components:- All living things on the

earth are called biotic components.
Eg:- Plants and Animals

Abiotic components:- All non living things are called

abiotic components. Eg:- air and water.

(b) What is photosynthesis? Explain.

Ans:- The process by which plant makes their food
is called photosynthesis.

To make food, plants take carbon dioxide from air
through stomata. Chlorophyll present in leaves

absorb sunlight and water is transport by roots.

(c) Why are plants called producers?

Ans:- Plants are called producers because food for




(d) Who are consumers? Classify them
their eating habits.

Ans:- All animals are consumers because they
depend on plants for food.

On the basis of eating habits ,they are divided into
three categories.

* Herbivores- Eat plants only Eg:- deer.

*Carnivores- eat flesh of other animals Eg:- Lion
*Omnivores- Eat both plants and flesh of others

animals. Eg- bear

(e) Differentiate between scavengers and
decomposers.

Ans:-

Scavengers Decomposers

Animals which feed on|They release nutrients to
remains of dead plants|the soils from the
and animals. remains of dead plants

and animals.

They are bigger in size. | They are very small in

size.

Eg:- Vulture and Crow Eg:- Bacteria and fungi

A
r \;“E’dﬁ th WPS Office
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(f) Explain the interdependence of pl
animals.

Ans:- 1) Plant depends on animals for Carbon
dioxide to make food.

2) Animals depends on plants for oxygen to breathe
and food to eat.

(g) What do you understand by balance in nature?
Ans:- A state of equilibrium in nature due to
constant interaction of whole biotic and abiotic
components.

(h) How does pollution cause imbalance in nature?
Ans:- Pollution becomes the cause of the death of
many plants and animals which. cause imbalance in

nature.

(i) What is food chain? Give one example.

Ans:- A food chain is a series of organisms in
which each organism is dependent on the organism
below in the series for food and energy.

Eg-. Grass —— > Deer-——---- > Tiger




5. Think and answer:

(a) What are endangered animals?
Ans:- The animals which are on the danger of
extinct due to unsuitable conditions are called

endangered animals.

(b) In a poultry farm, what will happen if all the
insects are removed?
Ans:- As birds in poultry farm depends on insects

for food so if insects will be removed then poultry

birds will die automatically.




Recap:

4. All non-living things on the earth are

e

5. Scavengers are those animals which f :
called abiotic components and all living remains of dead plants and animals. i
things are called biotic components of the g, Decomposers play an important role in
environment. returning the nutrients from the dead remains
2. All green plants are called prpclucers of plants and animals back to the soil,
because food for all other living beingsis 7, A food chain is a series of organisms in which
produced by them. each organism is dependent on the organism
3. Those organisms which depend on plants below it in the series for food and hence energy.
or other living organisms for food are 8. Both plants and animals are interdependent.
called consunjers. | _ . 9. There is a delicate balance in nature which is
4, Based on their feeding habits animals can maintained by all living creatures.
be divided as herbivores, carnivores and 10, There are many natural events and human
omnivores.

activities which can disturb the balance
existing in nature.

Exercises

1. Tick (V) the correct option:

(a) Which out of these is a biotic component of the environment?
(i) Stones (it Money plant

(b) The green pigment present in leaves is called:
(i) photosynthesis \(j# chlorophyll

(c) Pores for the exchange of gases in a plant are present in its:

(ii) Mountains

(iv) Soil

(iii) pores (iv) none of these

Y leaves (ii) roots (iif) stem (iv) fruit
(d) Bacteria and fungi are:
(i) herbivores - (ii) scavengers (iii) carnivores @»’f decomposers

(e) Animals help plants:

(i) by breathing out carbon dioxide (i) in pollination

(ifi) in dispersal of seeds jy all of these

State true (T) or false (F):

(a) Both plants and animals are consumers.

(b) The process by which plants make food is called cooking.
(c) Decomposers help in enriching the soil with nutrients.

(d) Through food chain energy is transferred from an organism to the next
one in series via food.

() Plants andlanimals are dependant on each other for survival.
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3. Fill in the blanks:

(a) ol Mg%}(_cg_,. are natural events which can
a E {eod.s :

disturb the balance existing in nature. o
() _Defjesc ostaliom  and _fpscoak Ftscon arehuman activities for clearing

of land for various purposes.

(©) cat the remains of dead animals and plants.
(d) Rabbit eats PLormtA : T.,c&. Q3¢ eats the rabbit.

(e) All green plants are Pm ducoxa

4. Answer the following questions:
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Chapter-9 ( Work and energy)

5. Answer the following question:-

a) What is the difference between force and work? Describe with an example.
Ans:- Force is push or pull applied on an object whereas work is application of
a force over a distance.

Eg:- When you push a wall, force is applied on the wall but no work has done
on it because no distance is covered by wall.

b) How is gravitational force useful to us?

Ans:-* It holds the things to the ground.

* Planets revolve around the sun due to this force.
* |t helps in the formation of tides.

c) What is energy?
Ans:- Ability to do work is called energy.

d) Explain mechanical energy.

Ans:- The energy possed by a body by virtue of its position or motion is called
mechanical energy.

It has two types:

* Potential Energy

* Kinetic Energy

e) Differntiate between renewable and non renewable sources of energy.
Ans:-

Renewable sources Non -Renewable sources

1. These are inexhaustible sources | 1. These are exhaustible sources of
of energy. energy.

2.They can replenished in a short | 2. They cannot replenished in a short
period of time. period of time.

3. Eg:- Sun, Water 3. Eg:- Coal, Petroleum

with WPS Off



f) List different types of energy. Write a short note on any two.
Ans:- Types of energy

1. Solar energy 4. Sound energy

2. Heat energy 5. Mascular energy

3.Light energy 6. Mechanical energy
7. Electrical energy

* Solar energy:-The Energy obtained from sun is called solar energy. It is
natural, non polluting and inexhaustible in nature.

*Heat energy:- The Energy obtained by burning of fuel is called heat energy. It
is used for cooking and to produce electricity.

g) What is an upthrust?
Ans:- The upward force applied by water on an object is called upthrust.

Think and answer:-

1. How can you help to use non renewable sources of energy judiciously?
Ans:- By replacing non renewable sources with renewable sources of energy.

2. Why do we say that the sun is the ultimate source of energy?
Ans:- Sun is ultimate source of energy because all other sources of energy are
directly or indirectly dependent on it.




Exercises

1.

Chapter-9 ‘

Tick (¥) the correct option: 1
(a) The Earth pulls everything towards itself due to Aorce. R
(i) frictional (ii) mechanical (ili) muscular ﬁq gravitationa] :
®) force helps a swimmer to float in a swimming pool. %
(i) Frictional (i) Mechanical ) Buoyant (iv) Gravitational : l
(c) Coalis:
(i) force (ii) form of energy ) non-renewable source of energy

(iv) renewable source of energy
(d) Wind has:
(i) lightenergy mechanical energy (iii) heat energy (iv) electrical energy i
(¢) Kinetic energy is a type of:

(i) heatenergy (ii) electrical energy
(iii) sound energy Mechanical energy
Fill in the blanks:
(a) Force can change the direction and/or Speed of a moving object. ]
® | he sun is the ultimate source of energy on the Earth.
(© Ourfoodiscookedby___Neat energy.
(d) Electricity produced in dams is also called h yd roelectric ity f
(e) Electric energy runs a mixer grinder.
(®) Renewable sources of energy are inexhaustible.

Name the following:

(a) The force that prevents us from falling off the Earth. Gravitationa | fO rce

(b) The force that opposes a moving object. Frictional force
(c) The capacity to do work. Energy
(d) The energy which enables us to run. Muscular Energy

(e) The electricity generated by using water energy. Hydroelectricity

State true (T) or false (F):

(a) Work is done whenever force is applied.

(b) We should limit the use of non-renewable sources of energy.

(c) Kinetic energy is the energy possessed by an object by
virtue of its motion.

(d) Energy cannot change from one form to another.

(e) You cannot walk easily ona smooth,

=m EEE

polished glass floor.




Chapter- 10
5. Answer the following questions:-
a) How can you keep yourself clean? Mention any five
points.
Ans:-* Brush your teeth twice a day.
* Take a bath daily with soap.
* Wash your hands before and after every meal
* Cut your nails every week.
* Wash your eyes with cold water.
b) What are communicable diseases?
Ans:- Diseases which spread from sick person to
healthy person are known as communicable diseases.
Eg:- Common cold
c) How can we present communicable diseases from
spreading?
Ans:-* Avoid contaminantion of food and water.
* Maintain personal hygiene.
* Keep your surroundings clean.
* By proper vaccination.
* Avoid contact with sick person.

...............




N

d) Differentiate between biodegradable and non
biodegradable waste.

Ans:-

Biodegradable waste Non Biodegradable waste
1. Materials which can|1. Material which cannot

easily breakdown into|breakdown into simpler
simpler form. form.

2. For example:- Fruits and | 2. For example:- Plastic
vegetables and glass.

e) How is indiscriminate use of plastic harmful?

Ans:- Plastic does not decompose for many years. It
can block the drains which cause them overflow. It
doesn't allow water to seep into ground which become
breeding ground for mosquito and flies. On burning
plastic produce harmful gases which cause air
pollution.

AN
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f) How can the generation of non-biodegradable
waste be reduced?
Ans:- * It can be reduced by 3Rs which are reduce,

reuse and recycle.
* Use cloth bags for shopping.
* Buy products with less packaging material.

Think and Answer

1. Why is it important to keep the dustbins
covered?

Ans:- To stop the growth of diseases causing
microorganisms.

2. What is the correct way to wash our hands so
that they become free of germs?

Ans:- We must wash hands with soap properly to
keep them free of germs.

AN

N

EditwithrWPSOffice



\

Chapter-10

Exercises
1. Tick (¥) the correct option:
(a) ?ould keep our nails:
short (1) long
(iii) painted (lv) their length doesn’t matter 1
(b) Disease causing germs are called: )
(i) insects (ii) birds _A#f microorganisms (iv) vectors |
(c) Stagnant water is the breeding ground for: |
(i) house-flies (ii) cockroaches ) mosquitoes (iv) all of these |
(d) Which out of these is non-biodegradable?
(i) Newspaper (ii) Wooden bed wmﬁﬁc penstand (iv) Grass
(e) Production of waste can be minimised by
(i) reducing your needs (i) reusing jars for storage
(iii) recycling of paper T all of these _ )

2. State true (T) or false (F):
(a) Plastic bags pose no harm to the environment.
(b) The three R's of waste management stand for- Read, Right and Recycle.

() We should wash our hands before every meal.

(d) It is safe to eat fruits without washing them properly.
(e) Communicable diseases spread from healthy person to sick person.

HREEE

3. Fill in the blanks:
@) Com pPo st is formed by decayed biodegradable waste.

(b) pIaStIC bags can clog drains. ) 3
water pollution ;

(¢) Dumping industrial waste in water bodies causes
Vaccination is a methed of acquiring immunity against certain diseases.

(d)
(e) Personal NYQi€Ne  and dean SUrroundingSare the best ways to prevent the
spread of communicable diseases.
4. Give one word for the following: A
(a) Ability to fight diseases. Immunity 4
(b) Carrier of dengue. Aedes mosquito f
(¢) Disease caused by contaminated water. Typhoid a
common cold¥

(d) Disease caused due to direct contact.
Microorganisms

(e) Disease causing germs which cannot be seen with naked eye.

A
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Subject- SST
CHAPTER-7
SAUDI ARABIA
Q1. MCQ.
a) south-west Asia
b) camel
c¢) Tropic of Cancer
d) summer
e) None of these
Q2. Very Short Q/A:
a) Wadis
b) True
c) True
d) True
e) Thawb
Q3. Short Answer Questions:
Ans1. Small pool of water in the desert is known as an
Oasis.
Ans2. Camel can live without food and water for many
days. Its padded feet help it to walk easily on sand. So, it
is called the ship of the desert.

Ans3. Cacti have thorns instead of leaves so as to lose



less water through transpiration.
Ans4. Thawb: Long white robe with long sleeves worn by
Arab men is called Thawb.

Abayah: Long black robe worn by Arab women is
called Abayah.
Ans5. Groups of people travelling together across a desert

are called Caravans.



CHAPTER-7

SAUDI ARABIA
Q4. Long answer questions:
Ans1.Location:
1. Saudi Arabia is surrounded by Jordan, Kuwait and Iraq in the
north.
2. The Persian Gulf , Qatar and United Arab in the East.
3. the Arabian Sea, Oman and Yemen in the south.
4. Red Sea in the west.
Ans2. The climate of Saudi Arabia is extremely hot and dry.
Sandstorms are common in all seasons.
Ans3. Saudi Arabia has the second largest Oil reserves in the world.
The other industeries are petroleum refining, petrochemical,
fertilizers etc. It has natural resources such as gold, silver, iron,
tantalum.
Ans4. Crops are grown in a very small part of Saudi Arabia. Wheat,
rice, alfalfa, vegetables and date palms are the main crops grown
here. But it depends on imports to meet 70% of its food
requirements.
Ans5. The Bedouins are nomads who have long inhabited the

desert region. They rear animals such as camels and sheep for



- élothes because these clothes protect people's body from heat

and dust.




SUBJECT- SST
CHAPTER- 8
The Prairies- the treeless grasslands
Q3. Short Answer Questions:
Ans.1 Grasslands are known by different names in different places
as: Prairies in North America, Pampas in Argentina ,Steppes in
Eurasia, Downs in Australia, Veld in South Africa and Savannahs in
Central Africa.

Ans.2 Travois: A type of sledge pulled by an animal is called a

travois. It was used to transport household goods.

Ans.3 Homestead: House on farm with buildings around it, is
known as homestead.

Ans.4 The two most developed countries of the prairies are the

USA and Canada.



SUBJECT-SST
CHAPTER-8
The Prairies- Treeless Grasslands
Q4.Long Answer Questiobs:
Ans 1. Vast areas covered with grasses are called
grasslands. The Prairies are located in the
Northern Hemisphere.

Ans 2. Agriculture is an important activity in the
Prairies. Farmers use scientific methods for
cultivation. Wheat is grown in large quantities in

the Prairies.So, the Prairies are known as the
wheat basket of the world.'

Ans 3. Farms where cattle are bred mainly for milk
and Milk products are called dairy farm. Dairy
farms have modern equipments in the Prairies.
Even milking of cows is done using machines.

Ans 4. There are many natural resources located in
the Prairies “as Uranium, Diamonds, Petroleum,
Natural g'aé etc.Ore-crushing factories and oil



refineries have been developed here.

Q5.Hots Questions:
Ans: The farmers on the Prairies use machines to
do most of the work to utilise its natural resources

efficiently.



y on dai
(i) hair
Farms in the Prairies:
(i) are quite large
(jii) use scientific methe

short Answer Question:

Many parts of the Prair
The Prairies are also Kr

The Prairies have a milc




Q3. SHORT ANSWER QUESTION:
Ans.1 Disadvantages of oral communica
1. It was likely to get lost easily.

2. Only a few people could gain this knowledge.
Ans.2 The Brahmi script was developed in India in 3200 BCE.

Ans.3 Numbers and counting developed with the rise of cities. It
began about 4000 BCE in Sumeria. The method of counting began

as a series of tokens.

Ans.4 1. Writing books by hand was a slow procéss.
)
2. The books were quite expensive.

4
y

Ans.5 The Gutenberg method of printing became popular as:
1. It allowed printers to make more copies of books in less time.

2. It also made books cheaper and easily available.

Q4. LONG ANSWER QUESTIONS:



9.

Ans.3 In 1443, Johannes Gutenberg invented the printing press
which completely changed the way to print and reproduce the
books . This method of printing became very popular. The Bible

was the first book to be printed.

Q5.HOTS QUESTION: J
Ans: Recording and Sharing knowledge helps us :co keep the
3 a9

records for future use .

4



ERLISES ch-18]

Multiple Choice Questions:

(a) Each language has a system of writing called: :
(i) alphabet vm'fscn’pt |

(b) Most of the scripts used m Indla today have
(i) Sumerian script Brahmi script (i

(c) The _ represented numbers through
(i) Romans (i) Sumerians

(d) The paper we use today was first develope | by

(i) Harappans (ii) Egyptians _
(e) The seript in which English is written is: {I'J-
¥ Latin (i) Devnagiri (i

. Very Short Answer Questions
(a) TheB[.bIL was the first book to m
(b) The Devnagiri script is used to write
(c) Hieroglyphics was dec;p/l-rred with th

(d) The Harappans/Sumerians were among tf
correct option. _

(e) The decimal system uses I?‘l._:fi

| =t = = = s I' 5?. )
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iy CHAPTER-19 *
XY CONQUERING DISTANCES v

A
A

03 SHORT ANSWER QUESTIONS:
A‘r}sjz Industries require raw material to produce goods and these goods need to be

"\ taken to the market. For all of these, efficient means of transport are always needed.

L Tl
r

| “Ans.2: Means of transport can be divided into three categories. These are:
/ 1. Land transport \
é Water transport "

#8. Air transport. &\

h\ éns.sz Advantages of Waterways:
1.Waterways are the cheapest means of transport for carrying bulky goods. )
2. Most of the world's trade is done through ocean and sea routes. w
‘ﬁx\
i }
Ans.4: Many rivers such as Amazon, Danube, Congo ,Ganga and Brahmaputra and mw

_.f
-—

& "” -

ﬁreat Lakes of North America, have been used as waterways.

“Ans.5: Advantages of Airways: 1N

1.Airways are the fastest means of travel.

¢ ;’_2. Many important cities in the world are connected by air. \ § la
"‘-., k|
Q.4 long answer questions: "'-“:z\__ s

y -4

Ans.1:The invention of the wheel was a turning point for humans as it helped __then‘l to

.t
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@over a loqy distances with carts fxed on whgf/ g N
B | ’
.g)}eﬂ,s .2: Rail transport was developed with the invention of the steam engine and iron rails.

-

India's first train ran in 1853 between Mumbai and Thane. Presently, India has The

5
+_second largest Railway network in Asia and its railway network is the fourth Iargest in

’E& world. k 9?

/- -
). »Ans.3:WRITE SAME AS ANS.3 FROM SHORT ANSWER. \g k_

5'HOTS QUESTIONS \
" #Ans: Yes, it is possible as in 19th century in America, manufacturers used steam eln_.;_._
-
to run cars and during early 21st century near about 600 steam engine cars were stlll
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. 4 roads that connect cities .
5 grod

) Canals (ii) Airwaﬁ
t .

;ne jargest railway network €
! !‘” RUSsia (ii) Chilla

|n India; the railways

jery

(3

() Meat and dairy p
correct option. .

) The NO.
(@ The invention
(e) The first a

Roads which connect ¢



Whenever we get sick we need to consult a doctor.

parts.

1. My grandfather often
complains of extreme
tiredness and
discomfort in his chest.
He consults to

3. | have crooked teeth.
| consult to

Qdhpolentisk

4. | find it difficult to read
what the teacher writes
on the board and the
teacher has asked me
to consult a

=

4
oermaBlog

rmafBlogist, Orth@ontist, Opth}okgig
(cardiologist, onhopa@icaum

Identify the types of doctor whom we consult when we have problem with these body

2. My father has red
rashes on his skin. He il 3
went to the e |

- Ll ‘;“' -

5. I'have severe paininmy .-
leg and my mother
thinks | have broken
one of my bones while
playing football.
| consult to

-
«_'»'
(J






Choose the correct name for each of the following :

1. The study of heredity %&ﬂ[ﬁﬂ_ 1.

2. The study of Earth's crust, rocks, etc ;%Mﬁ%’ 2

3. The study of the structure of animals ﬁaﬂmﬂ@t -

| 4

| 4. The study of cells d&ggﬂ}_ﬂ%,

! g
5. The study of ancient times Mmﬂﬂga/

€

6. The study of bacteria &M‘Qf%,
7. The study of the lines on the palm Mﬂ.ﬁ
8. The study of the skin and its disease ﬂmw

9. The study of numbers and their effect on one's fortunes

10. The study of birds Qﬂme
11. The scientific study of heart MM

12. The scientific study of poison ﬂﬁ*g;}_d‘%
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Match the inventors with their inventions. Inventions are in column A and Inventors are
in column B. Match column A with column B.

Column A Answers Column B
1. Diesel Engine 1-1, a. T.A.Edison
2. Loudspeaker S b. J.C. Perier
| 3. Sewing Machine 3- £ c. William Sturgeon
| 4. Tank 4- d. Harison & Catlin
5. Typewriter 5- ,{r e. A.). Garnerin
6. Parachute 6- £ f. Pellegrine Tarry
7 ﬁefrigerator 7- oA . g. SirE. Swinton
8. Electro Magnet 8 & h. B. Thimmonnier
9. Steam Ship | 9- Ir i. Horaceshort
10. Gramophone 10- 4 j.  Rudolf Diesel




SPACE TH|

4 I"':;?FINAL - ONTIER

tion is the ongoi i : :
gpace exploratio going discovery and exploration of essential structure in out

n below are a few questions about mankind’s journey i
il B the help box. ) ey into space. Choose your

~ it

;' 1. Thefirst manto enterinto (¢ )
. space was Yo (ragaxdin

© 2. The first woman to enter
: into space

No dentina Tese 2hkova
3. The first American astronaut

to float in space was
Edwand White

4. The term used for the speed
required by a rocket to leave
the Earth’s gravitational
force and go into s_%ace is

Escape Ve loci

5. The first astronaut to floatin  ({y)

space was
Alex % LeamoV

6. The first space vehicle to (e) |

= e I T e -

orbit the moon was :
Luna.-10 i a.@ sunita Williams
7. The first Indian-born woman () i b} Aieuy; | eonc
to go into space was 3 I‘;?Lf:f a::rtimr.-;wia
5 Ka Lpona Chawlo 1 e'"_ Luna-10
- 8. The first astronaut to run a (o) Ef,ﬁ;’fd"ﬁ,‘,’ﬁ:"
__marathon in space hi® Valentina Tereshkove

N nita. W




SPORTS
AND GAMES

North Wales Cup is associated with &mﬁg

Ovalis in England. It is associated with (s j o ot

Agha Khan Cup is associated with M@L_
10. Thomas Cup is associated with Mmbn

el Box §




The Olym pic Games are the most important sports event in the world inviting
pa;ticipation world wide. Fill in the blanks with suitable words.

1;

The Olympic Games originated in ancient  (J14.efc.e

The modern Olympic Games are held once in _ Fous« years.

The Olympic Flag has Five. rings on it.

Each ring of the Olympic Flag stands fora __ Cont iment
/ e
The abbreviation |.0.C stand for Intrﬁmﬁo_mﬂ._@rym”lc Committe

Every Olympic begins with an athlete lighting the Olympic Tosch

The Indian woman who represented India in four Olympic Games is
P.T.Usha

The three medals that are won in the Olympic are the Gold, the Silver and the
Bsonze

< DEDENRMAY




Races, jumps and throws are included in athletics.
Name the following athletic events using the help box.

_Pole Vay ot ) i

T Rings@) Hurdle Race

) Discus © 'II
Pole Vault _ High Jump Shot P:t'é?w
Javelin Throw® Long Jump Triple Jump@

l



. CUPS AND
TROPHIES

Column A Answers Column B
1. Ranji Trophy 1= a. Hockey
. 2505
2. Ranga Swami Cup b. Horse Racing
S G
3. Durand Cup c. Football
-k
4. Thomas Cup & d. Football
5. The Derby 6 4 e. Tennis
7- £
6. DCM Trophy f. Badminton
8
7. Wimbledon Cup g. Cricket
9- X
8. Walker Cup 10- X h. Golf -




SPORTING

TERMS

Fill in the blanks. Choose the right words from the box.

(‘. O VAAAP,

1. The term ‘Smash’ is associated with
2. The term ‘Freestyle’ is associated with %)

3. The term ‘ Check’ is associated with

4. The term ‘Batter’ is associated with
5. The term ‘Free Kick’ is associated with

The term ‘Caddie’ is associated with

it

- o

pasndily

&= T
) iy -~
s 4



COMPUTER

STREAMING

Without
Bufferlng




O» Scratch - Programming
‘iExercises

A. Tick [vV] the correct answer.

1. a 2. € 3. a.
4. b. 5. ¢

B. Write ‘T’ for True and ‘F’ for False statements.

I F % T 3 F
4. T S |

C. Fill in the blanks.

1. Four 2. Canvas 3. Wait 1 sec
4. White 5. Green

D. Differentiate between the following.

1. Upload sprite from file: It means to upload any image as sprite from
the file stored on our computer.

Choose Sprite from library: It means to choose any sprite present in
the library of scratch software.

2. The Forever block: It is a Control block which runs the script
continuously until the Stop button is pressed.

The Forever if block: It is a Control block that will always check the
condition. If condition is true then runs the script otherwise not.

E. Answer the following questions.

1. Scratch is a simple fun-based visual programming language designed
by the Lifelong Kindergarten learning group at MIT.
2. In three ways we can generate a new sprite.
i. Paint or create new sprite
ii. Upload sprite from file
iii. Upload sprite from camera

3. Changing the Costume mean to change how a sprite looks and to
change its appearance as the application executes.

s 15 2



The changing backdrop of stage is used to make it more interesting
and lively.

The stage provides the canvas upon which sprites are displayed and
interact with one another. The stage is 480 units wide and 360 units
high.

F. Application Based Question.

Shikha can add her own picture as a ' by using the ‘Upload Sprite”
o
Sprite

feature.




e» Internet - Electronic Mail (E-Mail)
dExerolses

Tick [v'] the correct answer.

1. a. 2. b. 3. a.
4, a. S. b. 6. a

B. Write ‘T’ for True and ‘F’ for False statements.

1. F 2. T 3. T
4. F 3. T

C. Fill in the blanks.

1. E-Mail Address 2. Emoticons 3. Abbreviations
4. Eight 5. Subject

D. Differentiate between the following.

1. E-mail: It enables us to electronically exchange messages with other
Internet users, wherever they may be. It would be delivered in
seconds or in minutes.

Postal mail: It enables us to post letter through post office. It could
take three-four days or more to be delivered.

2. E-mail address of a person, who will be receiving the e-mail
message, should be written in ‘To” section.

‘From’ refers to a person who is sending the e-mail message; his or
her e-mail address is written in this section.

3. Reply button will allow you to send a reply to someone who has
sent you an e-mail.

Forward button will help you forward a message, that you have
received, to someone else.

E. Answer the following questions.

1. E-mail is extremely fast and convenient, we can send a message to a
group of people free of cost quickly and easily.




An e-mail address is a combination of a user name and a domain
name. User name is a unique combination of characters that
identifies you, and it must differ from other user names located on
the same mail server. Domain name represents name of the service
provider and the type of website.
Attachment is used to send a file prepared in any program with our
e-mail. For example: Birthday invitation card as word file.
i. Our message should have a subject line that conveys its content
clearly.
The e-mail message should not be in capital letters. This is
equivalent to SHOUTING!

F. Application Based Question.

Ram can send his photograph through email by using the attachment
feature.




e» PowerPoint - Creating Slides
(iExeroises

A.

Tick [v'] the correct answer.

:
4.

a. 2. b 3. ¢
b. 5. a

Write ‘T’ for True and ‘F’ for False statements.

e

T 2. F 3. F

4. T 5. F 6. T

Fill in the blanks.

L
4.

Title 2. .pptx 3. Charts
Slide Show

Differentiate between the following.

: 8

A Slide transition: It is a visual effect that appears when we move
from one slide to another.

Animation effects: It makes the PowerPoint slide show interesting
and give it a professional look.

Print Preview feature is used to see what our printout looks like
before printing it, so that we do not waste paper.

Print Handouts feature is used to help audience follow along with a

live presentation and a place is provided to write notes for future
reference.

Answer the following questions.

1,

A slide layout determines the placement of all the items such as
title, graphics or text boxes that make up our slide.

Content placeholders appear on most of the slide layouts. They
enable us to insert text or one of six graphical objects so that we
can make our presentation fast.

SmartArt Graphics is used to illustrate a process or structure. It also
help us to communicate with our audience graphically.




Animation Pane is used to display a list of all the animations applied
to a slide. By clicking the down arrow of the effect, we can change
the animation effects and can change the sequence of elements or
objects.

Slide Show view is used to give a presentation to a group of people.
It displays one slide at a time, using the entire screen.

F. Application Based Question.
The Slide Transition effect was used to make the presentation.




Chapter: 13
Compassion

A) Answer the following questions:
Ans1. This means that others too have feelings like us.

Ans2. Because there was a limping lamb in the flock and he was finding it difficult to
keep pace with others.

Ans3. Buddha took the limping lamb on his shoulder and accompanied him.
Ans4. He said to have mercy and compassion.It makes the world Noble and beautiful.

Ans5. The king proclaimed the law that none shall kill animals for sacrifice or for
personal pleasure.

B. Who said these words:
1. Buddha

2. Shepherd

3. Buddha

4. king

5. Buddha

C) An orphanage.

D) I'll stop him and tell him to be compassionate.

E) I'll stop the children and forbade them to tease animals for pleasure.

Edit with WPS-Office



Class 5
Sub:Moral Science

Lesson - 15

(Mera Bharat Mahaan)

Ans1: Victoria Memorial is in Kolkata.

Ans2: We should do our best to preserve our national monuments.We should not write on the walls and
not litter around the monuments.



Class 5

Moral Science

Lesson - 16

(Green, Green Everywhere)

A. Answer these questions.

1. We can prevent the people from cutting down the trees by making them aware about the importance
and uses of trees.

2. Five uses of trees:-

(i) Trees purify the air.

(ii) They help to keep the area cool.
(iii) They provide food and shelter.
(iv) Trees prevent soil erosion.

(v) They give life to the world's wildlife.

3. A tree helps in keeping the balance of nature by using carbon dioxide and giving out oxygen.

4. Vanmahotsav day is the festival in which trees are planted.lt is celebrated on 15 July.

5. K.N.Munshi started Vanmahotsav in India.



feelings

compassion.
Rajgir.
goats - sheep

True

True




E. R e —
A Match the columns.

1. Taj Mahal (a) Mumbai | © .
9. Charminar (b) Delhi /)
3. Qutub Minar © Agra (1)
4. Meenakshi Temple (d) Hyderabad /)
5. Gateway of India (¢) Madurai | .
B. Tick () the right action. o 3
|. Rohan etched his name on the wall of a monument. ', |
7. Mitali cleared the litter around a monument. f;l
c. Can you name these monuments? -

Scanned with CamScanner
. . N



- g -INENSE |

' oxygen

carbon dioxide

shade.

cool
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